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GY 35-84
Technical specifications and methods of GY 36-84
measurement for television transmitters
1
GB 3174—1995 PAL—D VHF  UHF
VHF  UHF
2
GB 3174—1995 PAL—D
GB 6277—1986
GB 13421—1992
GB/T 17308—1998
SJ/T 10351—1993
3
3.1
5 40
95%
< 2000
3.2 1
1
> 1kw 30W< 1kw 30W
+ 300Hz VHF + 1000Hz VHF + 2000Hz VHF
1 3
+ 500Hz UHF + 1000Hz UHF + 2000Hz UHF
2 50Q 50Q 50Q
3 VSWR< 1.1 VSWR< 1.2 VSWR< 1.2
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1
> 1kw 30W= 1kw 30w
1.0Ve—s 1.0Ve—s 1.0Ve—s
4 0.3Ve—s 0.3Ve—s 0.3Ve—s
0.7Ve—s 0.7Ve—s 0.7Ve—s
5 75Q 75Q 75Q
> 34dB > 30dB > 28dB
° OMHz 5.5MHz OMHz 5.5MHz OMHz 5.5MHz
7 500B( ) 480dB( ) 460B( )
50dB( ) 48dB( ) 46dB( )
° 58dB( ) 56dB( ) 54dB( )
60dB 60dB 40dB
9 < 1mW(VHF) < 1mW(VHF) < 25p W(VHF)
< 20mW(UHF) < 20mW(UHF) < 25p W(UHF)
10 40dB 40dB 40dB
MHz dB dB dB
-4.43 -30/— -30/— -20/—
-4.43+ 0.1 -30/— -30/— -20/—
-4.23 -1.25 -20/— -20/— -15/—
/ -1.25 -0.75 +0.5/— +0.75/— +0.75/—
-0.75 +0.5/-4.0 +0.75/-4.0 +0.75/-4.0
H -0.5 +0.5/-1.5 +0.75/-1.5 +0.75/-1.5
0 +1.5 +0.5/-0.5 +0.75/-1.0 +0.75/-1.0
+1.5
+3.0 4.5 +0.5/-1.0 +0.75/-1.5 +0.75/-1.5
+6.0 +0.5/-4.0 +0.75/-4.0 +0.75/-4.0
+6.5 -20/— -20/— -15/—
MHz ns ns ns
0.25 0 0 0
12 0.5 2 + 60 + 80 + 110
4.43 + 30 + 40 + 70
5.5 + 60 + 80 + 110
13 | 2T Kp < 2% < 3% < 5%
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1
> 1kW 30W< 1kW 30W
2T
14 < 2% < 3% < 5%
Kob
15 Ko 2% 3% 5%
16 Kso 2% 3% 5%
17 < 10% < 12% < 15%
18 4.43MHz + 5% + 8% + 12%
19 4.43VHz + 5° +7° + 12°
20 / < 10% < 15% < 15%
21 / + 30ns + 40ns + 70ns
22 + 0.25dB + 0.25dB + 0.25dB
23 +2.5% + 3% + 5%
24 + 5° + 6° + 8°
ICPM
25
26 < 87.5% < 87.5% < 87.5%
27 6.5MHz+ 0.001MHz 6.5MHz+ 0.001MHz 6.5MHz+ 0.001MHz
28 100% 100% 100%
29 75%+ 2.5% 75%+ 2.5% 75%+ 2.5%
30 12.5% 15% 12.5% 15% 12.5% 15%
kW + 50ns + 100ns
3.3 2
2
> 1kW 30W< 1kW 30W
1 -10dB -10dB -10dB
+ 300Hz VHF + 1000Hz VHF + 2000Hz VHF
? : + 500Hz UHF + 1000Hz UHF + 2000Hz UHF
3 50Q 50Q 50Q
4 VSWR< 1.1 VSWR< 1.2 VSWR< 1.2
0dBm 0dBm 0dBm
° + 60B + 6dB + 6dB
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2 )
> 1kW 30wW< 1kW 30W
6 600Q 600Q 600Q
7 + 100kHz + 100kHz + 100kHz
> 60dB > 58dB > 55dB
° 1000Hz  100% 1000Hz  100% 1000Hz 100%
+ 1dB + 1.5dB + 2dB
9 30Hz 15kHz 30Hz 15kHz 30Hz 15kHz
(50% )
50u s 50u s 50u s
10 < -50dB < -46dB < -42dB
11 100% < -45dB < -40dB < -35dB
< 1% < 1% < 2%
12 100%
30Hz 15kHz 30Hz 15kHz 30Hz 15kHz
60dB 60dB 40dB
13 < 1mW(VHF) < 1mW(VHF) < 254 W(VHF)
< 20mW(UHF) < 20mW(UHF) < 254 W(UHF)
14
15 + 50kHz + 50kHz + 50kHz
16 50u s 50u s 50u s
3.4
3
50Q
<1.05
<11 - 1.25MHz + 6.0MHz
<1.1 + 100kHz
< 0.2dB
< 0.5dB VHF
< 0.8dB UHF
> 35dB
> 40dB
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35
< 90%
86kPa 106kPa

+ 2%
1.1 1.05 50Q
26dB
1:1
4
4
T 12p s+ 0.3y s
Tsy 4.7 s+ 0.2u s
Ty 52U s
— M v

— K 0.3V
S 0.3V

— G
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)

Te 2.26p s+ 0.23p s
T 64y s
u(mv)
A
700
d
le
M
0
IS T,
-300 4 Te T >t
TSY T >
H
1
4.2.2
4.2.3
4.2.4
2

A

B A

Yy

2

4.2.5
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A—
4.2.6
4.3
4.3.1
4
4.3.2 2T
5

100
87.5

25

B
= —x 100%
Y A 0

B— 2
0 100%
3
(D)
Y
3
u@vy lons | 10ms
700 _ 1
O -
wl
4 A

B:

Bs
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u(mv)
4 B: Bs
700
A
-300 12.3 15 25
4.70 s [—>e “S": He il >
P 64p s N
5 2T B: Bs
. t
E(t):S|n2(]1-—) T
21
T=%=83.3ns 1, 6MHz 2T T =2T=166ns,2T
0
1 1
h =— =" ~6MHz 2T
2T 166x10
6MHz T
Bs 2T 25 s
4.3.3 D:
D:
a 50% Du 6a)
u(mv)
700 4 i
140mv
]
-300 * 52u s
4.7u s >
10.5p s > 64y s
< g
6 a) 50% Di
b 12.5% D,

6b)
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6C

4.3.4

u(mv)
A

700 |
| 1ﬁ}[JJ[Jl{F
-300 L

6 b) 12.5% D

87.5% D

u(mv)
700
-300 t

6 ) 87.5% D

T e

u(mv)
700 4

280mv

1

]
-300 L
4.7u s 52 s
10.5u's < > 64y s R
7 a) 50% D2
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4.3.5 10T
8

u(mv)
700 1
| L[
-300 L
7 b) 12.5% D,
u(mv)
700 ‘5
| L[
-300 L
7 0) 87.5% D
D, D. 280mV
D D,
F. G
u(mv)
700 |
350 |

-300 -
4.7y s
_ 64p s R
< gl
8 10T Fi Gy
350mV 10T
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4.3.6

4.3.7

10T F G
9
u(mv)
4 F G
700
0 r -\ \
-300 * 12.3p's| 15y 250 s
4.74 s [« e < >
. 64 s N
u(mv) F
A
700 ¢ sin’x /
f=4_43MHz
10T —/
o L
9 10T F G
10T 10T
G2
10
U(mV) G,
A
700 | 420mV /
bs be
350 + o
?
ot
_‘ bu s 10p s|10u s 15u s 10p s
-300 L
4.7p s
10.54 s le > 64y s
10 G2
G2 350mv
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uv) B, B, F : D, . )
1.00 p i 1 100
0.86 b,b,b) [ Pun | a0
0.72 41 60
0.58 140
0.44 LJ 120
0.30 1 o0
b, b,
0 1 -43
6.5 8510.511.4 Lo |
0 6 11 13 16 18 20 22 24 26 28 3132 x:—z
12 625 17
B, 17 2T B, 17 D, 17 5 F 20T
K, Kp Kpb
4.3.10 625 18 C
13
Cl c2
< b e > .
0 (D)
0.86 m 80
0.5 || 1.0 |} 2.0 || 4.0 |} 2.8 [] 5.8
0.65 r iz || iz || oz [z | oz || vz -‘ 50
0.44 u 20
0.30 0
0 -43
‘0 6 8 10 12 15 18 21 24 27 30 32x 3—H2
13 a 625 18
C1 C2
UV, (%)
0.86 ( ) m 80
0.5 || 1.5 || 2.5 || 4.0 |} 28] 5.8
0.65 ’_ '1 50
MHz MHz MHz MHz MHz MHz
0.44 U 20
0.30 0
0 -43
0 6 8 10 12 15 18 21 24 27 30 32x 3—Hz
13 b C
4.3.11 625 330
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4.3.12

4.3.13

68

B B D, O
1.14 YV N b 120
1.00 h 100
0.86 80
0.72 60
0.58 40
0.44 u 20
0.30 0
0.16 -20
0 -43
b “““ 6‘ - ‘11‘13‘ 15‘ - ‘20‘2‘2‘2‘4‘2‘6‘2‘8‘30 éZx%
14 625 330
B, 330 2T B. 330 D, 330
DG DP
625 331
15
€ Gl » < E »l
v )
1.00 , 100
0.86 - 80
G
0.72 r =72 b, | b, 60
0.65 r===
5 [fa IBE
0.44 r—‘ 20
0.30 0
0 -43
0 67 9 11 1415 17 30 32x :—2
15 625 331
Gy G E
sinx
X
16
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uQv %
1.00() (i)oo
0.44 20
0.30 0
0 -43
H
0 6 18.5 30 32><§
16 sinx
X
sinx sinx
X X
4.4
17
<
| |
|
|
! «]
|
|
|
<_I
17
4.4.1
a
b 1
17 K U=0
75% 1
P, =0.06980A T (kW) 1
Q— L/min
AT—
Pg 2 P

Py

=— B _—1.68P
125 + A¥(1-5) °

S
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4.4.2

nGe-p)~

n(p-p)

4.4.3

U—

U n(RMS) ~

70

S=4.7/64
A=75%

17 K U=0
75%

P 3

B

LY
P, =(lg 1E)XP W

1kHz

S U
— =201
N 9

(dB)

n(p-p)

0.7v

17

S U
— =201
N g

(dB)

n(RUS)

0.7Ves

P
3
“)
17
1kHz
5
17
10kHz 6MHz
17
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4.4.4

4.4.5

Y%

12.5%

50%

Du 6

17
18 6
87.5%

D, = Ava = Auin 10y
Amax Amin
1
D 17
18
2
D. 17
DG
7 8
X% = Auax —Ao 100%
AO
v = Aain = Ao 16004
A0
Amax Amin
A0
1

DG

17

X%
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D2 330 17
19

Amax Amin AO 7 8
12.5% 50% 87.5% DG

T T

e £ <§
19

o 2

D2 330 17

330
12.5% 50% 87.5%
DG
4.4.6 DP
a
X Y 9 10
X=0® , ~®, 9
Y=0 . -®; 10
® max ® min ® 0
G o, 12.5% 50%
87.5% DP
b 1
D2 330
17 o,
@ max ® min
20 9 10 DP
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(Dmax
e .
20
c 2
D2 330
17
12.5% 50% 87.5%
DP
4.4.7 /
a
/ / /
/
/
b / 1
C 18 17
R Un
Uy, 11
201g U gp 11
cl
Uu— 1 6
U, — c1
/
c / 2
C 18
C 18 /
dB 21

330
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(dB) 0.15 -0.30 0.26 0.34 -0.71 -2.05
1.0+

. —

1
N
g o po o

05 1.0 2.0 40 4.8 5.8
(MHZ)

21 dB

Ks U=0.35V 0.2v

17
Fv+1.5MHz 0dB (-4.43-0.1 -4.43
-4.43+0.1 -1.25 -0.75 -0.5 1.5 3.0 4.43 6.0 6.5 MHz )

4.4.8
a
/
(do /dw )
b
Si% 17
§EIBS ns
X

22
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(dB)
2.5
2.0
1.5
1.0
0.5
0.0 T agzoo o T
0.5 o
-1.0
-1.5
-2.0
_2.5 T T T T T T T T T T T 1
0.0 1.0 2.0 3.0 4.0 5.0 5.8
(n sec)
150.0 1
100.0
50.0 1
e
0.0+
-50.01
-100.0
-150.0 w ‘ ‘ ‘ ‘ ‘
0.0 1.0 2.0 3.0 4.0 5.0 5.8
22
4.4.9
12 13
_ _ 12
1
=+ —( - ) ( ) 13
2
10
4.4.10
a
b
K U 17
U=700mv a, b, U=0mv
a, b, 14
= (&_ﬁ)xloo % 14
al aZ

a, b, a, b, 23
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4.4.11

17

b— 24

4.4.12

76

24

b

b.

lus

b

b

L 15

Ky = %xlOO%

250p s ‘ V_QN
e
9-—1
250us| |t
—
B 5ms < 5ms . 5ms >|
24
lus
K K,
b2 Ub bl b2
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4.4.

4.4.

4.4.

16

13 2T

2T

14 27

2T B.

2T

15 /

Kp

K, =22 100% 16

1-2

K

p

2T

K K 25Ke

——————————————————— 100%

50%

25 Ke
17 17
25
17 17
17 K
K,y
B, B 2T Al
K,y
17 17
bl b2 Ul—z bl bll Ulfll
K,y
Ko=Y2 =V gq0n 17

pb
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4.4.17

4.4.18

78

G & -
331 17
331 G s —
Uy, 18 /
AA, = Us =V 100%
U1—2
/
ns
17
F 20T
G G2 b, b,
b5 b6
331
331 b, b,
U, 19
Do _Yss 100k
6
ICPM
AM—PM —
1
A C
26

AA

18

17

17

17

1CPM
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20/

N
Z

26 1CPM
c 2
250kHz
Y 250kHz
X
4.4.19
a
GB 13421
b
Ks U=0.35V 0.1v
Fv 0dB dB
Fo + IR
Fo- IR
2Fy
3F
NFy N
Fv IFy
c
2Fy 6dB
3F 9.5dB
4F, 12dB
S5Fy 14dB

NF 20IgN
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4.4.20

4.4.21

21

80

4.4.19
f Z(F), Z, 20
5~ 201g Z, +Z(f)‘ 20
Z,—Z(f)
21
Al
p =20lg— dB 21
AZ
A, —
A, —
1
27a)
75Q
27 a
0.5MHz 1.5MHz 2.5MHz 4.0MHz 4.8MHz 5.8MHz
19
2
27b)
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L=40m 100m

27 b
B, 2T A, A,
A, A p 22
A A,
p =201g—-20lg—(dB) 22
A, A
2
4.5
28
<« <
I I
I I
— [
I I
I I
<« le—!
28
4.5.1
a
b 1
23
P, =0.0698QA T (kW) 23
Q— L/min
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AT—
o 2
Y dB P W X
24
Y ot
X=—1gtxP W 24
10
4.5.2 /
a
/ + 25kHz  50%
b
30Hz 15kHz 1000Hz
+ 25kHz 30Hz 15kHz
50u s / 25 T =50u s
:10[Ig(1+r 2 ~4T[2f2)—lg(1+r 2 ~4T[2106)] dB 25
50u s 5
5 50u s
0.03 0.05 0.1 0.4 1 1.5 2 3 5 6 7.5 10 12 15
(KH2)
dB -0.41 | -0.41 | -0.40 | -0.34 0 0.46 | 1.04 | 2.35 | 4.99 | 6.17 | 7.75 | 9.95 | 11.41 | 13.25
4.5.3
a
JUS +UZ 4+ 4 U2
K, = %100 % 26
\/Uf+U§+U§+~~+U§
U, U,..U, n
b
30Hz 15kHz 0.03kHz 0.05kHz 0.1kHz 0.4kHz 1kHz 1.5kHz 2kHz 3kHz 5kHz
6kHz 7.5kHz 10kHz 12kHz 15kHz + 50kHz
4.5.4
a

82




GY/T 177-2001

+ 50kHz
600Q
%zmm (dB)
b
)8 1000Hz
50kHz 20kHz
1000Hz 600Q dB
4.5.5
28 29
1
:i— -
2( ) ( )
10
4.5.6
a
GB 13421
b
Fa
dB
Fa + IFa
Fa - IFa
2Fa
3Fa
NFa N
1 Fa IFa
2
4.5.7
a
b
600Q
Uo 30

28

0dB

27

dB

29

I+
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= 20192 _6(dB) 30
UO
U, 31
Up
= 201g —(dB) 31

UO
4.5.8
a

Un
Us
b
28 Ks U=350mV S=700mV 100Hz
100kHz
Ks 100Hz 100KHz
Un
1kHz + 50kHz 100%  Ks
=0 U,
32
U
= 201g*(dB) 32







